Answer Key ¢ Lesson 4: Add Mixed Numbers

Student Guide

Use Mental Math

Jackie said, “I can add
15 + 25 in my head.
First | add the whole
numbers: 1 +2 = 3.
Then | imagine circle
pieces.

Add Mixed Numbers (SG pp. 471-472)
Questions 1-13

Strategies will vary.
. A 2% B. 32
“Toadd§+ 3, ladd§ + 5+, whichis 5. C. 3i D. 35

“Finally, 3 + 15 = 4% .”

x|

-, ol

2. Possible response: 1 +1=2;%and 3-are both
more than 5 5» and less than 1. Together they
will be more than 1 and less than 2. So, the
sum will be between 3 and 4.

3. A6 B. 4%
C. 75 D. 7%

4. Possible response: 5% is more than 5% ,s01

é . Estimate th The Ive the foll bl i ircle pi 3 o, . .

S menta ﬁqatﬁ,*’;",liperi”n§°p”eici..eaic?r"é”foii"wo?ETSs”Ai'Cvgtﬁ!ffoi'f”s know it is more than 54 1L is close to 2. The
z answer is correct with circle pieces. Check for reasonableness.

I oamei- B2l o 8 o. 2} sum will be about 5+ + 2= 7— 73 is very

5 Rl ] close to 74, so I know it is reasonable.

s 2. Explain how you know your answer for Question 1C is reasonable. 5 3% mlles, c]oser t() 3 mlles

dd Mixed Numbers SG-Grades-Unit10-tevon s 471 6. Yes, they will have more that 6 inches of

ribbon. 3% = 3% 2= 2% . 3%+ 2% 512 or
7 .

Student Guide - Page 471 1; inches.

7. % cups; closer to 5 cups

8.* Answers will vary. The common denominator

3. Estimate the sums. Then solve the following problems using pencil and

‘:_“’:”;f"swlzyi“'W‘;'_k';“fj;‘i s ‘fi‘_’“';%”i““:;: e ’ea:_"”“‘;g' for the fractions 4 and < is 12. Find equivalent
c ' ' o fractions With denominator 12 1 is equivalent
4. Explain how you know your answer for Question 3D i reasonable. to {5 and < is equivalent to 13. Add the whole
fracton circle pisces 1 check the rensonablenees of your answers, Wit your numbers 1 and 2 to get 3. Now add the

answers in simplest form. Do not leave any improper fractions.

fractions & 3 alnd1 to get > 12 Convertlng this
to mixed numbers, we get 112 . Adding this to

5. Anaran 1% miles at soccer practice on Monday and 1% miles on Tuesday.
How many miles did she run in total? Did she run closer to 2, 3, or 4 miles?

6. Rosa has 3% inches of ribbon. Luis has 2% inches of ribbon. They need

6 inches for a project. Will they have enough if they combine ribbons? 3 we get 4i . Reducn‘lg to Slmplest form the
Explain how you decided. 121
7. Jerome had leftover snacks to add to a snack mix. He put 3% cups of ansSwer 18 4? .
pretzels together with 1+ 7 cups of peanuts. How many cups dld he have to
add to the snack mix? Dld he add about 4, 5, or 6 cups to the mix? 9 7 I 0 6 7 I I 5 1
- V12 - 75

12. Possible response' It will be more than 6.
4+ 1=5; 3 and < are each more than -
So 3 + = 5 1s more than 1. So the sum is more

8. Describe a method for adding mixed numbers to a partner. You may need to
use some of these words: equivalent, common denominator, mixed number,

1

improper fraction, and simplest form. Use 15 + 25 as an example to help

explain this method.
\/ Check-In: Questions 9-13

Solve the following problems using paper and pencil or mental math. Write your

than 5+ 1 , which is 6.
answers in simplest form. Do not leave any improper fractions.

9.22+43= 10. 43+ 15 = M. 15 +35= 3. &i?ﬁ &i?ﬁ &i?ﬁ &i?ﬁ &i?ﬁ &i
12 :_;a%kebzflre:ts ?#::g%nEL (‘J).Iiliisn)'/our answer reasonable? Should it be more Ab A Ab Ab Abv %

13. Show how to solve the problem in Question 11 with fraction circle pieces. 1l +
10
2

Aueduiog BUIYSIANd 1UNH [12PUSY @ WBIAI0D

Does your answer make sense?
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* Answers and/or discussion are included in the lesson.
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Answer Key ¢ Lesson 4: Add Mixed Numbers

Student Guide
Homework (SG p. 473) Y SHomework I

H . Solve the following problems using paper and pencil or mental math. Write your
Q ueStlons 1 10 answer in simplest form. Do not leave any improper fractions. Include labels if
needed.
3 2 o1 4 1 1 3
|. 87 1.82+3,= 2 atvel- 3 7 4 4

1 3
+2% + 5%

6

5. Lee Yah spent 6‘5 hours in school and 1% hours doing her homework. What

9 A is the total time she spent at school and on her homework? Is it closer to 7
80 or 8 hours?
7 6. Arecipe calls for 1% cups of whole wheat flour and 2% cups of white flour.
1 0 7) How many cups of flour are needed?

-~

. Nicholas’s route to school is 1.3 miles. His soccer coach told him that it is a

757;_ hOLlrS, Closer tO 8 hours mile and a half from school to the practice field. How far does Nicholas have

to walk to get from home to school to soccer practice?
5 8. A. A customer bought 2% yards of print material and 2% yards of solid color
ﬁ Cups material. How many yards did the customer buy?

B. Both kinds of material cost $3.00 a yard. The customer has $15. Is this
enough money to buy the material? Explain.

©

2.8 miles or 2% miles

. Jessie is making a bird house. She needs 2 boards that measure 1% feet each
and a board that measures 1%feet. She has one board which is 4 feet long. Can

© NOo O F OD

A Sl yards she cut the 3 shorter boards from the longer one? Why or why not?
' 12 EE 10. Complete the Function Machine. Write all fractions in simplest form.
B. No; since the material costs $3.00 per yard, :

Co

Input Output Can you find a o
22 common denominator?
3

the customer can only buy 5 yards with
$15. The total amount of material is more

than 5 yards, so the customer won’t have M Zj
enough money. .
3 3 _ 2l p.al 1
9. NO IT + IT - 37 ft’ 37 + 17 = 4 ft Add Mixed Numbers SG+Grade 5+ Unit10-Lesson4 473

Rule: Add 11
Student Guide - Page 473
Input Output

5

22 32
2 e
32 43
4 29
24 3%
1

1% 3E
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